@ a®xa’*xa®=ad8

@ x®xytxx0xy? = x8y0



|
Q
S
w
X
[
<
S
i
N
L
ol
e

AOR &

rlo

A7

@D 2a2p* @ 3a3p* B 2a3bt @ 343 0B 2a3h°



$4a



3y(—2x + 5y) & 2+ Y

© -2xy - 15y @ —2xy -7y ® 6xy — 15y

@ —6xy + 152 ® 6xy + 5y2



g ®7] ol A mAG7} 2 A9 QapgAAle] obd AL mE
ZHR17F?

[ ]

H7]

@ 3x+2% =22 -y+7

© 3x+1-5y
X oy
T_r_ 7

©4 3

@ x> +4x+y=9+x?
@ xy+2=13

® 2x+4y=2x+9

Yk 4l



7h)

® x+2y=5

@ -2x+y=5

® 2x-y=3

® 3x-5y=1

@ -Tx+9y=2



Qo] ‘].1:1]—;(—]

[eRNe]

A —3x+4y-2=5 9]

o -7 3 1

gt a7t (3k,2k) € o, k ©] #4272

@ 7 B 5



azbd o, o

jille

% REOh 0 S B D2

@ a-32b-3 @ = +a>7+b
® -a+3>-b+3 @—%az—fb

B 3a-1>3b-1



9. =T LAFTAHA ALY

O x+42-1 @ 2x+4=6
® x-5x<3-4x @ 2> x—x2

® 64+x-(1+3x)



10. x=-2, -1, 0, 1, 2€ o, QAFFA4 4 - x> 3 = o] HA sh=
x 0] e BT A5

@ -2 @ -2, -1 ® -2, -1,0
@ 2 ® 1,2



dx+1>2x+4

2x—2>8

D x>1

o 5

B x<1

=

=

FohH?

@ x>5

B x<5



12. &340 YRS 2
SR 22 g

-

z>1
<0

© djo] Pejs 7 o
Z{ifi o
256 ey |22
(125 |=w
(15 Kfloes [0
AR



3

4 b
13. (i> :;‘Tﬁ%l a+b o) ZHe Tatlat

yd

SER
-



2
14, B s s = mena m [ o vwe 48
Wolat,

Ct-

18



15. o AollA n o g Fotoiet.
8" x 23 = 512

& e
c



16. TFFAA oA —2x+3y S TSI HY x+ 5y7t Hdet. o] wf, thah4]
AS Tshi?

@D 3x+2y @ x-5y ® 2x+y-1

@ 2x+ 3y ® 2x+ b5y



@ 2x+5y_3

@ 3y2+2

FelARA el A2

@ 3x2+1-3x2

@ —2x3 —+ x2

1
® —§x2 +3



18. -3+ 2¢ o] o @ 42 tlsfo} & 21 ko] MLl 42 4 3x 7
woic}. of | 412 Fatole)

e
-



19, (2x+y)(3x +2y) o] AAAANA, xy o] ASE2

D 2 ® 5 B 7 @ 9 B 11



W, x o g Fatole.

o

(12x2 — 4x) + (-2x)

20.



4a® + 6ab B 3b2 — 4ab

21. . 5

® 3b @ 8a+3b ® 8a+9b

@ 9b B 8b-9b



2 2 20 442
22. x:—3,y:—2%”f41,xy+3xy +2xy i o] #h2?
Xy y

@D 16 ® 17 A 18 @ 19 B 20



23. A=x-y,B=-2x+3y4 ™, 24~ {B+3(A-B)} & x, yoll &<t
A0 2 e, ax + byoltt. olf, a + b9 327

@D 1 @ 2 3) 3 @ 4 3 5



24. SiHo] dol7t g, oFRI 9] o7} b, Eol7t h Y A ES] HolE

SE}:‘QHH,S:%(aer)hO]E}. o] A& qof Poko] w9

28 b 1
®a:7_b @a=2S—z @azi(Sh—b)
@GZQS—b ® a— 28

h b+ h



17 of

S|

A x, y ol Bk dATAHA 2x +y-10 =0 €]

25.

@ (2, 4) ® (3, 4)

@ (1, 8)

_2)

@ (4, 2)



26. of@ H%9] 2 vj] 3 & W] 17 B} 2 57} 5|9k oloh 22
B FA Vg 2L 58 Fotolet,

B
=¥



27. #=:

N5

a = 7N

A QoA 2x +y < 45 TESHE 2GS &, y o] =A%
otofzt,

3
=



28.

1 4

1

X WA7H0, 1, 2,3, 4, 5 1, BEA S-Sz -2 o] )

@o0,1,23,4,5
® 2,3, 4,5
G 4.5

2 3

®1’273’475

@ 3,4,5



P x32=20d0m,[ ]

29.

@ 5 A3 6 @ 7 3B 8

@D 4



30.

-1 5 2 - -
BEA oS4 2> TR UESE 35 3 AU 0 ¥F
1 1 _ -
5(3x+7)—2x37x+3° HEs A4 & H%FS b B

M, a + b 2] #& Fokei=t,

B
-

o2



